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A AE=gt
M DIHMITHE <&t &
&2 OIAIZA M2 I3

Al A

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
A& &gkt 24,728,720 24,076,604 652,116
= 3,132,222 2,860,302 271,920
s 369,740 369,740 0
| 102,000 102,000 0
L= 1,685,983 1,685,983 0
i 19,438,775 19,058,579 380, 196
OlcHAITHE <I8t RIS 3 H 5,498,324 5,226,404 271,920
= 2,928,522 2,656,602 271,920
| 73,000 73,000 0
= 753,621 753,621 0
= 1,743,181 1,743,181 0
OIMSX H2 XI& 5,498,324 5,226,404 271,920
= 2,928,522 2,656,602 271,920
| 73,000 73,000 0
= 753,621 753,621 0
i 1,743,181 1,743,181 0
IRt SR 00 A& 3,696,720 3,424,800 271,920
= 2,079,720 1,807,800 271,920
L= 485,100 485,100 0
i 1,131,900 1,131,900 0
402 SIZERHE0I M 3,696,720 3,424,800 271,920
= 2,079,720 1,807,800 271,920
= 485,100 485,100 0
= 1,131,900 1,131,900 0
02 QIR AL 2 X (01 &THE) 3,696,720 3,424,800 271,920
O MIIXSK RUK2(SSHA) 271,920 0 271,920
= 271,920 0 271,920
HOl2 24 zastz2 3ETA 28 9,707,737 9,371,714 336,023
= 125,400 125,400 0
s 369,740 369,740 0
| 29,000 29,000 0
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= 9,129,108 8,793,085 336,023
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01 Q1244 260,430 252,382 8,048
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8,000 #6124 x4 1,952 0 1,952
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O BAXIY RN KEXAS B2
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2 369,740 369,740 0
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H)I2 S 1,116,734 1,010,211 106,523
201 er2 | 368,291 2,125 26,166
EEIL 144,158 135,992 8,166
O MHRINL 4B =X
1,361,002 32 =23 8,166 0 8,166
2 S22t 224,133 206, 133 18,000
O ZBRE(I|, &+, SH) &=
17,194,350 122 206,333 188,333 18,000
401 Al HI LS| 464,727 384,370 80,357
01 Al&HI 464,727 384,370 80,357
O 2SHE® 354 +28 89
11,5002 +03E *2862 305,877 225,520 80,357
HOIZ 228 WAL X4 69,636 47,63 22,000
RN EREES 69,636 47,63 22,000
207 1Y 22,000 0 22,000
01 eiREt| 22,000 0 22,000
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